me ez (EA)

8/13~15+12/29~1/3I3BHRY 1 P TEGT LE T,

XXBEMEDRPERZIIDEBLEIDCENDBDITIDTIHTTE RS,
XEERMEE (2,000, « 5,000f34L « 10,000M4%L) O@EFITEEEA.

202341

SPAED

=2 =23
s=e N4 e
x
2
- iR 5
5 28 5
N
(]
Van OE& Van
=
N4
=0 =0
s 579 =S
T
2 g 2
!
=2 * =2
=
5 5
6 6
7|09 7
8|49 8
9|4 9
10| 5,4 10
11 11
12|,, 12
13| g 13
14 14
15| 5 15
16|49 16
17 17
18 4 18
19|54 19
20 20
21 21
22 22
23 23
wE s




me ez (EA)

8/13~15+12/29~1/3I3BHRY 1 P TEGT LE T,

XXBEMEDRPERZIIDEBLEIDCENDBDITIDTIHTTE RS,
XEERMEE (2,000, « 5,000f34L « 10,000M4%L) O@EFITEEEA.

202341

SPAED

7% 7%
g% Nf& w4 V1 £

t E
5 R 5

L x x®

7!\ % =]

5 A2

% At 1% § %

g .

+ R
T =
e 79 5 479 g
B =) =) =) B
5 5
6 54 6
7 31 7
8 8
903 9
10| 40 10
1|55 11
12| 46 12
13 13
14 14
15| ¢ 15
16 16
17|09 17
18|54 18
19 19
20 20
21 21
22 22
23 23
BE B




